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“The most significant achievement of modern law
constitutionalization of environmental problems by the Supremée

Discuss this statement with the help of relevant case (it
(Answer in 160 words)

in India is the
Court,”
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“Right of movement and residence throughout the territory of India are freely

available to the Indian citizens, but these rights are not absolute,” Comment.
(Answer in 150 words)
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To what extent, in your opinion, has the decentralisation of power in India
changed the governance landscape at the grassroots ? (Answer in 150 words)
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- Discuss the role of the Vice-President of India as the Chairman of the
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. Hatannalﬂammmsmn for Backward Classes in the wake
rom a statutory body to a constitutional body.

s (Answer in 150 words)

| (150 &g} & 37 Afirn)
lous coordination between the
“fmm“tyﬂlsmaa

nswer in 150 words)
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Q13, & them before the Legislature. (Answer in 250 words)
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Parties are in fav:l political parties in India favour centralisation, the regional
ur of State autonomy.” Comment. (Answer in 250 words)
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Prarics Y examine thepfmm through which the Presidents of India and
are elected. (Answer in 250 words), 16
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DIMI-IBE the role of the E]actinn (Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)
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Besides the welfare schemes, India needs deft management of inflation and
the underprivileged sections of the

unemployment to serve ‘the poor and
society. Discuss. (Answer in 250 words) "
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»¢ with the view that increasing dependence on donor agencies for

mduws the importance of community participation in the

rocess ? Justify your answer. (Answer in 250 words)
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